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HPPE ¢ 7TS5mmEKEHRT HEHEE
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No. 1 NO. 1 TI®D-3 NO. 2 +I®@-3 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
75mmHPPEBE K & 21 =EEL 128 =EE L SEE L SEE L SEE L SEE L SEE L CER L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 4.20 2.00 25. 60 29.80 ) ( 30)

SEUMT t=15cmA T m
AsEiZEhR 0.60 1.26 0.60 7.68 8.94 )| ( 9)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.85 1.79 0.62 7.94 9.73)|( 10)

AR R T ME L m3
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HHERT BER m3
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3 T e s e . W | B gy ——— i E
+T O©-3 T @-3
Bid — 1.40 — — AL — 0.70 — -
2.549 1.40 1.40 3.569 0.900 0.70 0.70 0.630
5.000 1.40 1.40 7.000 0.700 1.40 1.05 0.735
2.000 1.40 1.40 2.800 0.480 1.40 1.40 0.672
3.290 1.20 1.30 4.277
& 12.839 17.646 & F 2.080 2.037
TR = 12.839 m TTER = 2.080 m
Y = 17.646 + 12.839 = 1.37 m Y = 2.037 <+ 2.080 = 0.98 m
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No. 1
BRI SR RS - RNV A FENE = 0.35m ZU)E = 0.25m
z o
W : | om o i N

&5 wk & s|En owr r os|lan w2 sles w2 s|Es ok g s 7
4 0.610] 5 2.169 2,779 2.221 2

6 4. 620 4.620] 0.380 1

& 7t [HPPE 975 %] L=500 2 &k 7.399| 2.601 3

EERKELEER TR = REHR




2. BEREME L HEXK

[#axmifE]



BRERNETL HEHEE
EfE-O0f%:DIP ¢ 75mm:L=13.0m
R & T Y:1.00m NO. 7
& 4 R
I/ g _# BRTZE g % & B _Z
223
H#
=
FE € E |
BRERET HHESTS m 130| 130 + = 13.000
HSEUT 75 a 4 130 + 30 m/0O = 4
%D 34=v9"
nng HKE D5 t 0.216 (1440 + 223 )x 13.000 = 216 ke
(1]
o 754
TI®-1 MEEE m 130 130 + = 130
[SEHEIRT]
HEERRAUL
XE#ET ER-EHE-W=15cm  m 3.0 30 + = 30
HEERRAUL
XE#RT +JS5-BfE -W=45cm| m 1.4 14 + = 14




T I ¥ R K i %
No. 2 NO. 1 ®-1 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HREMET 13.0 =EEL SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 26.00 26.00 )| ( 26 )

SEUMT t=15cmA T m
AsEiZEhR 0.60 7.80 .80 )| ( 8)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.62 8.06 .06 )| ( 10)

AR R T ME L m3
BHO. 28m3 ) ¢ )

HHERT BER m3
BHO. 28m3 0.50 6.50 .50 )| ( 10)

HERT HESL m3
(RC-30) 0.60 7.80 .80 )| ( 8)

TREERET t=10cm m2
(RM-30) 0.60 7.80 .80 )| ( 8)

LRERET t=12cm m2
BEZRH As13mm 0.60 7.80 .80 )| ( 8)

B R 18 16 t=3cm m2
BitunT 0.06 0.78 L 18)| ( 1)

(£8) 41DT m3
BitunT 0.03 0.39 .39 )| ( 0.4)

(AS) 4tDT m3,
ZAE 0.07 0.91 EIDI 0.9)

ASH% t

RBRKELREEE RE=REHH




T I #% E & & EBE
No, 1
WrEEE = ©-1 DIPp75 L= 13.0 m
Brigid B = B #aE H= 1.00 m
EHEEE = 0090 X 009 X =z / = 0.006
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.09 — 0.05 )- 0.006 =| ms3 0.62
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.84 = m3 0.50
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.62 —( 0.50 = 0.90 )= m3 0.06
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07

LEERKELEES XA =REHT




1. BI/KEHPPE ¢ 100mm  #esR



HPPE® 100mmEc kK EfRRT HEBFIES

ER T #81):0.70m~1.40m NO
g 4 R
L 5 BRI A | & & | EHR H_Z
KBEKE B EFZOFMESE
¥ RYIFLUE ¢ 100 x 5,000 N 18| 5.000 5000 X( 18 ) = 90.000
KEEKE R BEE
RYUIFLUE ¢ 100 X 5,000 PN 2 PERELY = 8438 UYIERA
RUTFLUER m
EF45° AUR ¢ 100 X 45° & 3| 0.380 0380 x( 3 ) = 1.140
RUTFLUER A%
EF45° AUR ¢ 100 X 45° & 1] 0.490 0490 x( 1 ) = 0.490
RUTFLUER m2
F—3 $100% ¢ 75 & 1] 0.140 0140 x( 1 ) = 0.140
HRTILED GF#%-7.5K
PEEO M HHKETFE $100x 75 & 1] 0.790 0790 x( 1 ) = 0790| Z=&E#
HRTILED
PEFRO 750V EE ¢ 100 & 1] 0.460 0460 x( 1 ) = 0.460
SUSH Lk = Fyb D
70V MFHEREE ¢ 100 & 1 1 = 1
RUTFLUER
EFY vk ¢ 100 & 3 3 + = 3
750V B - F ¢ 100 & 1] 0.250 0250 x( 1 ) = 0.250
Tha4 L EEEE B GXH
EEERT ¢ 100 & 1] 0.660 0.660 X 1 = 0.660
025 2%
EEERMAETERSF | NAEE-75K | B 1 1 = 1
¢ 75-H150-7.5K - Fs =2
R -AEEESR FCD | RSN EBRE LV -K | & 1 1 = 1
¢ 75+RF-GF 32 A #2 wissH
770V F ATULAAN Ry | 4R 1 1 = 1
SUSH Ik = b
WEREI Y BERBRSE b5 & 1 1 = 1
HPPEREE = 102.368
GXF. HBLZR%EE ¢ 200 X ¢ 150 & 1] 0.440 0440 x 1 = 0.440
GXF. HBLZR%EE ¢ 150 X ¢ 100 & 1] 0.420 0420 x 1 = 0420
1 LR 'REED
GXI; EHMEREEE M ¢ 200 #H 1 1 = 1
SUS304BN -1 Ll - #RéR apEzn
GXI; EHMEREEE M ¢ 150 #H 1 1 = 1
SUS304BN -1 Ll - #Rék apERn
GXI; EHMEREEE M ¢ 100 #H 1 1 = 1
DIPEER = 0860
EEER = 103.228
BRER T ERF
ERRT—7 W=50 m 102.2 103.228 - 0.250 0.790 = 102.188
HPPERE & 2-TE BB RE [
BEIRBEER)-7 ¢ 100 m 135.1 102.368 X [6.0 (1 4+ 01) + 50 = 135.125
DIPEER -7 R SRR HEE
FYLFLYRY=7" ¢ 200 m 1.1 0860 x (6.0 (1 + 01) =+ 50 = 1135
TIL= TEER T ERF
BERER— W=150 2{& m 101.7 102.730 - 0.250 0.790 = 101.690
@ 250 H=0.70
TSRS CH1ERIH 4 1 1 + = 1
T+ A ¢ 250
L WYL SHEE H=100 & 1 1 + = 1
T+ A ¢ 250
L WYL L+ TF#& H=150 & 1 1 + = 1
T+ A ¢ 250
Ly vk yh R EE(MHf2) H=40 | {& 1 1 + = 1
¢ 500
ERTAHKE M35 #® 1 1 = 1
EXTHA ¢ 500
L WYL L& H=200 & 1 1 = 1
EXTHA ¢ 500
L WYL T & H=300 & 1 1 = 1
EXTHA ¢ 500
AL WVLS EE(MH#2) H=40 | & 1 1 = 1




HPPE® 100mmEc kK EfiRT HEBFIES

T eR S £ 451):0.70m ~1.40m NO. 1
g 4 R
TiE £ K TZE S % & H %
FE (ERT]
BhE H#
RYIFLUERMGT ¢ 100 m 103.0/ 103.228 — 0.250 = 102.978
A#%F) ZOEE F45
EF#F T ¢ 100 AT 25| 18+ 1 +
45
3 X 2 2 + = 25
(2O#F) Yhyh F-R
EF#F T ¢ 100 (517 4 3 + 1 = 4
UIERELY
RYZFLUEYT ¢ 100 m] 5 5 = 5
FEE
IS5V HFT ¢ 100 (517 1 1 = 1
fOHHET ¢ 100 1 1 = 1
ERAZEL ¢ 25 1 1 TR wissH = 1
IV UMFT $75 7.5K m| 1 1 wER - FATE = 1
EmEES
GXFz MFEANALT ¢ 200 (517 1 1 = 1
EBHERAENT W ¢ 150 m 0.9/ 0.860 = 0.860
ERERSE ERERANS
GXFz #F T ¢ 200 (517 1 1 = 1
ERERSE ERERANS
GXFz #F T ¢ 150 (517 1 1 = 1
ERERSE ERERANS
GXFz #F T ¢ 100 (517 1 1 = 1
BHHRRT—JL W=50 m 102.2| &M HEY = 102.188
¥ET—7
IBEIEEER-THET ¢ 100 m 1024 BREERKY = 102.368
#HET—
FYIFLVR)-7HEBEL ¢ 150 m 1.1 EMHEEY = 1135
FILS
BERRY—FT W=150 2% m | 101.7|&MHELY = 101.690
FKE
WKEHEBRT BEER B m 103.2]103.228 = 103.228
¢ 250
HUFRASEEMRT c1gxoX &M 1 1 = 1
T+ A ¢ 250
Ly oy AR T FREH H=100 & 1 1 = 1
T+ A ¢ 250
Ly Uy AR T L+ TF#& H=150 & 1 1 = 1
T+ A ¢ 250
LY Uk IR T JEER (AfZ) H=40 | {& 1 1 = 1
¢ 500
ERFAAKBEAT M35 B 1 1 = 1
E5THA ¢ 500
LY kAR T L& H=200 & 1 1 = 1
EXTHA ¢ 500
Ly Uk ) AR T T & H=300 & 1 1 = 1
EXTHA ¢ 500
Ly k) ARfT T EE (M) H=40 | & 11 = 1
(£T]
¢ 100
AL T hEEE m 6.7 6.7 + = 67
¢ 100
EHI L T@-1 TESE m 237 237 + = 237
¢ 100
EElETO-1 MESECRSHE) | m 723 723 + = 723




T I ¥ R K i %
No. 1 0. 1 TID-1 NO. 2 TI@-1 NO. 3 TI®-1 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
100mmHPPEEE K & 6.7 =EEL 2.7 =EEL 723 =EEL CER L CER L CER L CER L CER L
SER L SER L SER L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 13. 40 2.00 47.40 ( 60.80)( 61)

SEUMT t=15cmA T m
AsEHEERR 0. 60 4.02 0. 60 14.22 C 18.24)]| 18)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.47 3.15 0.48 11.38 0.43 31.09 ( 45.62)|( 50 )

AR R T HE+ m3
BHO. 28m3 0.19 1.27 0.19 4.50 0.19 13.74 ( 19.51)( 20)

HHERT BER m3
BHO. 28m3 0.15 1.01 0.22 5.21 0.23 16. 63 ( 22.85)( 20)

HERT HESL m3
(RC-30) 0. 60 4.02 0. 60 14.22 ( 18.24)|( 18)

TREERET t=10cm m2
(RM-30) 0. 60 4.02 ( 4.02)|( 4)

LRERET t=12cm m2
BAEZH As13mm 0.60 4.02 0.60 14.22 ( 18.24)|( 18)

B R 18 16 t=3cm m2
BitunT 0.30 2.01 0.24 5.69 0.17 12.29 (19.99)|( 20)

(£8) 41DT m3
BitunT 0.03 0.20 0.02 0.47 ( 0.67 )| ( 1)

(AS) 4tDT m3,
ZAE 0.07 0.47 0.04 0.95 ( 1.42 )] ( 1.4)

ASH% t

RBRKELREEE RE=REHH




+ I # it B =
No, 1
WA =  (@D-1 HPPE$100 L= 6.7 m
B B = il H= 0.70 m
EHEEE = 0130 X 0130 X =z / = 0.013
=P = X X z / =
Im2%47
% EA H | & & W =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 0.83 — 0.05 )= m3 0.47
T BHO.28m3
LRI AT 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.25 = m3 0.15
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
LS T (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAS 177 047 —( 0.15 = 0.90 )= m3 0.30
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.05 = m3 0.03
EIN
TAT7 /iR 0.03 X 235 = t 0.07

LEERKELEES XA =REHT




H
H
32
il
o
o
i

No,2
WrigidEs = (@-1 HPPE#100 L= 23.7 m
B B = ifrE A H= 0.70 m
EHEEE = 0130 X 0130 X =z / = 0.013
BEHE = X X z /J 4 =
Im2%47
% EA H | & & W =
BRI T
AsFTRIR = 15cmEL T 1.00 X 2 = m 2.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 0.83 — 0.03 )= m3 0.48
HHECT BHO.28m3
LRI AT 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.37 = m3 0.22
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FELH T 4DT mElt+ mHEt
FEAS 177 048 —( 0.22 = 0.90 )= m3 0.24
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.60 X 0.03 = m3 0.02
BN
TR/ 0.02 X 220 = t 0.04

LEERKELEES XA =REHT




T I #% E & & EBE
No,3
WA =  (@-1 HPPES 100 L= 72.3 m F4%E
B B = ifrE A H= 0.72 m
EHEEE = 0130 X 0130 X =z / = 0.013
=P = X X z / =
Im2%47
% EA H | & & W =
BRI T
AsEHHEIR t=15cmEL T 1.00 X 0 = m 0.00
BHLEERR A T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
AT BHO.28m3
- E A - FEE A 1.00 X 0.60 X( 0.85 — 0.13 )= m3 0.43
1. BHO.28m3
LRI AT 1.00 X 0.60 X 0.33 — 0.013 = m3 0.19
PHECT BHO.28m3
LN A 1.00 X 0.60 X 0.39 = m3 0.23
AT (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #EAs 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LG T 4DT Al AL
FEAS 177 0.43 —( 0.23 = 0.90 )= m3 0.17
FELH T 4tDT
FEAS TAT7 W% 1.00 X 0.00 X 0.00 = m3 0.00
EIN
TAT7 /iR 0.00 X 235 = t 0.00

LEERKELEES XA =REHT




%6

mELtT Y I
I N e e R | LIl LR o 2 B
T @-1
— 0.70 —
12.885 0.70 0.70 9.020
0.600 1.30 1.00 0.600
2.000 1.30 1.30 2.600
0.600 0.70 1.00 0.600
56.245 0.70 0.70 39.372
& 8 72.330 52.192 & 8 — —
LTTHEE = 72.330 m + TR —
EH Y = 52.192 + 72.330 = 0.72 m X L pkD

UNCVYISEIIN LRSS SR & =t



[HPPE4¢ 100 EHE] UIERE

No. 1
TR RGO NE A U = 0.45 2% = 0.30
Z w w
. | o | et | oo WA
wi & s|we w5 s|ws] w2 s|ws] mn [r s|me] en (2 s /
1. 435 2 0.469( 3 1.620| 4 0. 469 3.993 1. 007 4
4. 445 4.445| 0.556 1
& it [HPPE 6100 FE#] L=500 2 & 8.438| 1.563 5

EERKELEER TR = REHR




2. BC7KEHPPE ¢ 7omm  FUE SR



HPPE ¢ 7TS5mmEKEHRT HEHEE

R £ 9U:0.70m~1.40m NO. 2
E 4 R
I g _# BRTE | Ef & & | EHE #_F
JKEEIKE A EFZOFESE
¥ RYIFLUE ¢ 75 % 5,000 X 8| 5.000 5000 X 8 = 40.000
JKEEKE A BEE
RYIFLUE ¢ 75 X 5,000 P 2 YIERELY = 8770 YERA
RUTFLUER mZ
EF45° RUR @ 75 % 45° & 3| 0.380 0.380 X 3 = 1.140
RUTFLUER mZ
EF22° 1/2R_UK $75%22° 1/2 1@ 1| 0.280 0.280 X 1 = 0.280
RUTFLUER g
EF45° RUR @ 75 % 45° & 6| 0.480 0480 X 6 = 2880
RUTFLUER g
EF11° 1/4_R2K $75%x11° 1/4 1@ 1/ 0.360 0.360 X 1 = 0.360
RUTFLUER s (1) 0310 0310 x 1 = 0310
F—X 100 % ¢ 75 & x =
RUTFLUER
EFVY4 vk ¢ 75 & 5 5 = 5
PE}EO{$Y72b -t 15 @75 & 1] 0.780 0.780 X 1 = 0.780
o541V E A GXT
EREHRT $100x ¢ 75 & 1] 0.825 0.825 x 1 = 0.825
Th54 L E A NSH
ERERT ¢ 75 & 1] 0615 0.615 x 1 = 0615
B ER 770V B AU R4t
TEIKTFE ¢75x p75 & 1] 0.297 0297 x 1 = 0297
HRTINED
PEEOMI7VVEE ¢ 75 & 1] 0.400 0.400 x 1 = 0.400
SUSH L= FybD &
IV MF RS R ¢75 & 1 1 = 1
PEP
PEE 675 & 1 1 = 1 R E
HPPEIEE = 56.657
GXFz HBLZAEE ¢ 150 X ¢ 100 & 1] 0.420 0420 x 1 = 0420
GXfz 54+ ¢ 150 & 1] 0.039 0.039 x 1 = 0.039
T LER EEZO
GXI; EERES S ¢ 150 #H 1 1 = 1
SUS304BN- 1" L8 - 8 EpER0
GXfz EfEREEESM ¢$ 100 #H 1 1 = 1
RN} '*pEE0
GXfz EfEREEESM ¢ 75 #H 1 1 = 1
DIPEEE = 0459
EEER = 57.116
BRELER To#
HRRT—T W=50 m 56.3 57116 -  0.780 = 56.336
HPPEER 2-TE BB RE [
BEIBBEERY-T PT5LUT m 74.8 56.657 X (6.0 (1 + 01) + 50 = 74787
DIP(ER 2-TE BB RE [
FYIFLYRY-7 ¢ 150/ m 0.6 0459 x {60 (1 + 01) + 50 = 0606
TIL= FTEER To#
BERAEE S —b W=150 21% m 56.2 56.975 - 0.780 = 56.195
¢ 250 H=0.70
YRS (G AL " 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR YY) H=100 | & 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR L T& H=150 [E] 1 1 = 1
[snIFC 0z ¢ 250
LY UK vHR EER(MfZ) H=40 | & 1 1 = 1




HPPE ¢ 7TS5mmEKEHRT HEHEE

M+ #Y:0.70m~1.40m NO. 2
E 4 R
I £ & BHTE L4 = B %
FE €FEomm|
A BREEER TuH
RYIFLUERAT @75 m 56.3| 57.116 — 0.780 = 56.336
[QI=FEED)] EE F45 A1
EF#¢F T ¢ 75 jE503i8 23| 8 + 6 + 1 +
a5 w22
3 X 2 + 1 2 + = 23
(2O#F) PZETS F-2
EF#¢F T 675 &R 5| 5 + = 5
UERELY
RYIFLUEYRT ¢ 75 [m] 6| 6 = 6
FEE
ISVCHMFT @75 &R 1 1 = 1
HEOFHFET @75 X 1 1 = 1
B ER
KSR T G75% ¢ 75 (5178 1 1 = 1
RYIFLUE PEIE
AAZHILEFT ¢ 75 A 1 1 = 1
B E
RUIFLUEYRT ¢ 75 [m] 1 1 = 1
EEES
GXTz #FESILT ¢ 150 & Fr 1 1 = 1
EREEs
GXTz #FESILT b 75 & Fr 1 1 = 1
BHERAREMRT Hi ¢ 150 m 05| 0459 = 0459
EEES EEEAHG
GXFz ##F T ¢ 150 &R 1 1 = 1
EREES EREEAHS
GXFz ##F T ¢ 100 &R 1 1 = 1
EREES EREEAHS
GXFz ##F T @75 &R 1 1 = 1
EHRRT—IT W=50 m 56.3| B ¥ &Y = 56.336
#ET—7
BHIRBEHEA)-THET PISLLTF m 56.7 |[BREELER LY = b56.657
#ET—7
RYIFLVAY-THEBET ¢ 150 m 06| EMELY = 0.606
FILS
FEBRY—FT W=150 2{& m 56.2| E#E LY = 56.195
BEKE
EKEHERT BEER Bt m 57.1| 57.116 = 57.116
@250
YRS T ci1ExrTX &R 1 1 = 1
[snIFC 0z ¢ 250
LY Uk ) ABR T SAEYS H=100 | @ 1 1 = 1
[sniFC 0z ¢ 250
LY Uk )R BR T L& H=150 [E] 1 1 = 1
[snIFC 0z ¢ 250
LY UK vy AR T JEER (AfZ) H=40 | & 1 1 = 1
(+T]
¢75
TI®-2 HEHEE m 243| 106 + 137 = 243
¢75
+T@-2 HESE m 174 174 = 174
¢75
+I®-2 MESECREE) | m 148 148 = 148
G T5 B K 7B
+1I® TEEE m 1.0 1.0 = 10
[%EIET)
HRBRIUE
REfRT EH-AE-W=15cm| m 28 16+ 06 + 06 = 28
HRBRIUE
XE#RT £IJ5-Af-W=45cm| m 6.4 24 + 40 = 64




T I ¥ R K i %
No. 2 NO. 1 TI®D-2 NO. 2 TI®@-2 NO. 3 +I®-2 NO. 4 TI@ NO. 5 NO. 6 NO. 7 NO. 8
75mmHPPEEC K & 24.3 “EE L 17.4 “EE L 14.8 “EE L 1.0 “EE L “EE L “EE L “EE L “EE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 48. 60 2.00 34.80 2.00 2.00 85.40 ) ( 85)

SEUMT t=15cmA T m
AsEiZEhR 0. 60 14.58 0.60 10. 44 1.00 1.00 26.02 ) ( 26 )

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.58 14.09 0.46 8.00 0.49 7.25 1.43 1.43 30. 77 ) ( 30)

AR R T ME L m3
BHO. 28m3 0.17 4.13 0.17 2.96 0.17 2.52 0.48 0.48 10.09 )| ( 10)

HHERT BER m3
BHO. 28m3 0.28 6. 80 0.22 3.83 0.31 4.59 0.75 0.75 15.97 )| ( 20)

HERT HESL m3
(RC-30) 0.60 14.58 0. 60 10. 44 1.00 1.00 26.02 ) ( 26 )

TREERET t=10cm m2
(RM-30) 0.60 14.58 1.00 1.00 15.58 )| ( 16 )

LRERET t=12cm m2
BAZTHLAs13mm 0.60 14.58 0.60 10. 44 1.00 1.00 26.02 ) ( 26 )

B R 18 16 t=3cm m2
BitunT 0.27 6. 56 0.22 3.83 0.15 2.22 0. 60 0.60 13.21)|( 10)

(£8) 41DT m3
BitunT 0.03 0.73 0.02 0.35 0.05 0.05 1.13)( 1)

(AS) 4tDT m3,
2AE 0.07 1.70 0.04 0.70 0.12 0.12 2.52)|( 2.5)

ASH% t

RBRKELREEE RE=REHH




T I #% E & & EBE
No, 1
WA =  (@D-2 HPPE$75 L= 24.3 m
B s B = il H= 0.92 m
EHEEE = 0090 X 009 X =z / = 0.006
=P = X X z / =
Im2%47
% EA H | & & W =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 1.01 — 0.05 )= m3 0.58
T BHO.28m3
K NFRED AR 1.000 X 0.60 X 0.29 — 0.006 = m3 0.17
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.47 = m3 0.28
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAA 1+ 058 —( 0.28 + 0.90 )= m3 0.27
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

LEERKELEES XA =REHT




T I #% E & & EBE
No,2
WA =  (@-2 HPPE$75 L= 17.4 m
Bt B = A H= 0.70 m
EHEEE = 0090 X 009 X =z / = 0.006
=P = X X z / =
Im2%47
% EA H | & & W =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
- A - FEE A 1.00 X 0.60 X( 0.79 — 0.03 )= m3 0.46
T BHO.28m3
K NFRED AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.37 = m3 0.22
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAS 177 046 —( 0.22 = 0.90 )= m3 0.22
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.03 = m3 0.02
EIN -
TAT7 /iR 0.02 X 220 = t 0.04

LEERKELEES XA =REHT




T I % E H K 8
No, 3
Mgl =  @-2 HPPE$T5 L= 14.8 m fbfk
Brigib B = A H= 0.85 m
B = 0090 X 0090 X x [/ = 0.006
grf%:b/)j? = X X V4 / —
Im2%40
% B i & Z o #o& g =
ARG L
AsEFEER t=15cmbll T 1.00 X = m 0.00
BT 1
AsEFEER t=10cmbl T 1.00 X = m2 0.00
i T, BHO.28m3
P A B 1.00 X 0.60 X( 0.94 — 0.13 )= m3 0.49
PR T BHO.28m3
SLNGED  FAERY 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
PR T BHO.28m3
SNGEIED FEE A 1.00 X 0.60 X 052 = m3 0.31
FE AR T (RC-30)
t=10cm 1.00 X = mZ2 0.00
_LJEEAE T (RM-30)
t=12cm 1.00 X = mZ 0.00
BEITIRTEIH (FFAEEFLAs 1 3mm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
T T. 4DT AL WAL
FHiAS 4P 0.49 —( 0.31 = 0.90 )= m3 0.15
FEL X T 4DT
FERS TA77/ b 1.00 X 0.00 X 0.13 = m3 0.00
EIN
TA7 7N 0.00 X 2.35 = t 0.00

LEERKELEES EEEA=REHFT




T I % E % E #
No, 1
Wik AE = @ DIPp75 L= 1.0 m
Brigib B = IE H= 1.20 m
B = 0090 X 0090 X x [/ = 0.006
grf%:b/)j? = X X V4 / =
Im2%40
% B i & Z o #o& g =
BT
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BT 1
AsBFIERK t=10cml{ T 1.00 X 1.00 = m2 1.00
i T, BHO.28m3
P A B 1.00 X 1.00 X( 1.49 — 0.05 )- 0.006 =| m3 1.43
HHE 1. BHO.28m3
SLNGED  FAERY 1.00 X 1.00 X 0.49 — 0.006 = m3 0.48
HHE 1. BHO.28m3
SNGEIED FEE A 1.00 X 1.00 X 0.75 = m3 0.75
FE AR T (RC-30)
t=10cm 1.00 X 1.00 = m2 1.00
_LJEEAE T (RM-30)
t=12cm 1.00 X 1.00 = m2 1.00
BEITIRTEIH (FFAEEFLAs 1 3mm, A 77)
t=3cm 1.00 X 1.00 = m2 1.00
FEL A5 T 4tDT el WAL
FHiAS 4P 1.43 —( 0.75 = 0.90 )= m3 0.60
FEL T ADT
FERS TA77/ b 1.00 X 1.00 X 0.0 = m3 0.05
YN
TR 7/ bk 0.05 X 235 = ¢ 0.12

LEERKELEES EEEA=REHFT




%6

et T Ity g E
W | B gyt ——— i B || W | W gyt ——— i ®
+T O-2 +T @2
Al [ — 1.20 — — Al [ — 0.70 — —
8.417 0.70 0.95 7.996 | 0.651+7.766 1.474 0.70 0.70 1.032
0.430 0.70 0.70 0.301 1.417 0.70 0.70 0.992
0.929 0.70 0.70 0.650 0.480 0.70 0.70 0.336
0.805 0.70 0.70 0.564 0.339 1.04 0.87 0.295
2.290 1.04 1.04 2.382
— 1.20 — — 8.000 0.70 0.87 6.960
0.387 1.20 1.20 0.464 | 0.887-0.5 0.800 0.70 0.70 0.560
0.480 1.20 1.20 0.576
11.553 0.70 0.95 10.975
1.280 0.70 0.70 0.896
a g 24.281 22.422 & F 14.800 12.557
+THE = 24.281 m tTIER = 14.800 m
TR0 = 22,422 + 24.281 = 0.92 m Py = 12,557 + 14.800 = 0.85 m

i e YR K L TS84 3 R = i R 5 P



[HPPE® 75 EE] UIEHE

No. 2
AN RS - B NOVE P B = 0.35m ZH% = 0.25m
Z o "
. 7% o) WA
A B e N P e L e e /
1.073| 2 1.037| 8 2. 396 4. 506 0.494 3
3.194| 7 0. 521 9 0. 549 4. 264 0.736 3
& it [HPPE ¢ 75 %] L=500 2 &K 8.770| 1.230 6

EERKELEER TR = REHR




3. PEAKAEVLP ¢ 50mm g



VLP ¢ S5OmmEBEKERRT HEBFHES

EIE- OF: HKEVLP ¢ 50mm FAERIER 1 1=2.500m (2.000m) +2.960m (2.460m) =5.460m (4.460m)

R EHSE: 1Y 0.70m NO, 3
g 4 R
IiE £ FBHKTZE By % £ | B4R 1w _Z
#H#
BIEEZLSA=VTHE ¢ 50 x 4,000 X 2 PERELY = 5400 YIER
a7ft MR EMm2
BE'IAZVY ILE ¢ 50 & 8 4 + 4 = 8
a74%
BE31=0745° 1K ¢ 50 & 1 + 1 = 1
a74%
BE34=09'7'39 ¢ 50 & 2 1+ 1 = 2
A
FCD &75v%° $100x 50 7.5K | #& 1 1 + = 1
¢ 100-RF-GF AR
770V F ATULAAN Ry | #A 1 1 = 1
PEP x VP
PVY3{ub @ 75% ¢ 50 & 1] 0.060 + 1 = 1
RELE VLP ¢ 50 = 5.400
PV VLP
BEEER 0.060 + 5.400 = 5.460
ERER
EHRT— W=50 m 5.5 5.460 — = 5460
THIR I7E R
BEEEE S — W=150 24 m 3.9 4460 — 0.600 = 3.860




VLP ¢ S50mmEBEKERRT HEFHES

EIE- OF: HKEVLP ¢ 50mm FAERIER 1 1=2.500m (2.000m) +2.960m (2.460m) =5.460m (4.460m)

R EH 1Y 0.70m NO, 3
g 4 R
IiZ £ FBHKTZE Hy) % &2 1w _Z
FE [#EFT])
BEEE
RYUIFLUEYRT ¢ 75 a 1 1 = 1
ISVCHET ®100 7.5K [m] 1 1 = 1
RYIFLUE PV
ANZHIILEFT ¢ 75 a 1 1 = 1
RYIFLUE PV
ANZHIILEFT ¢ 50 a 1 1 = 1
MNOERFERTT ¢ 50 m 5.4 5.4 = 54
L YEHAE
NOREEUT ¢ 50 a 9 9 = 9
Ry
NORHERFT ¢ 50 m] 17 9 + 8 = 17
RLAHESE BISUY
NORERFT ¢ 50 m] 17 8 x 2 + 1 = 17
aV9Y—kEIR HIFL#Z ¢ 80 7 2 2 BEER I8 = 2
BHRRT—JL W=50 m 5.5 EMH&LY = 5.460
EHRY—FT W=150 2{& m 3.9|EMH LY = 3.860
(£T]
@50
TID-4 g EE m 22 2.2 = 22
50
1133 MESECREE) | m 1.8 1.8 = 18
9=+
200 X 200 X 100 VLP ¢ 5018 HE
-+t 0200 x 0200 x 0100 — VLP ¢ 50
18N-8-40 m3 | 0.004 0060 x 0060 x ;4 x 0100 = 0.004 | 1&HY
BipT 0200 x 0100 x 2 4+ 0200 x 0200
INEIEEY m2 0.07 — 0060 x 0060 x ;w S 4 x 2 = 0074
9=+
18N-8-40 m3 | 0.004| 0.004 x 1 = 0.004
BHT
INEIEEY m2 0.07| 0.074 x 1 = 0074




T I ¥ = HgE
No. 3 0. 1 TID-4 NO. 2 +I®-3 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
50mm VLP #EK & 22 =EEL 1.8 =EEL SEE L SEE L SEE L SEE L SEE L CER L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & F BER=E

AsEliZEhR 2.00 4.40 .40 )| ( 4)

SEUMT t=15cmA T m
AsEiZEhR 0.60 1.32 .32)|( 1)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.43 0.95 0.38 0.68 .63 )| ( 2)

AR R T ME L m3
BHO. 28m3 0.15 0.33 0.15 0.27 .60 )| ( 1)

HHERT BER m3
BHO. 28m3 0.15 0.33 0.22 0.40 LT3 ( 1)

HERT HESL m3
(RC-30) 0.60 1.32 .32)|( 1)

TREERET t=10cm m2
(RM-30) 0.60 1.32 .32)|( 1)

LRERET t=12cm m2
BEZRH As13mm 0.60 1.32 .32)|( 1)

B R 18 16 t=3cm m2
BitunT 0.26 0.57 0.14 0.25 .82)|( 1)

(£8) 41DT m3
BitunT 0.03 0.07 .07)|( 0.1)

(AS) 4tDT m3,
ZAE 0.07 0.15 15 ( 0.2)

ASH% t

RBRKELREEE RE=REHH




T I #% E & & EBE
No, 1
WA = D4 VIP$50 L= 2.2 m
B s B = il H= 0.70 m
EHEEE = 0060 X 0060 X 1z / = 0.003
=P = X X z / =
Im2%47
% EA H | & & W =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 0.76 — 0.05 )= m3 0.43
T BHO.28m3
K NFRED AR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
T BHO.28m3
LG TN A 1.00 X 0.60 X 0.25 = m3 0.15
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAS 177 043 —( 0.15 = 0.90 )= m3 0.26
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

LEERKELEES XA =REHT




H
H
32
il
o
o
i

No,2
g sS = @-3 VIPg50 L= 1.8 m
Bt B = A H= 0.70 m
EHEEE = 0060 X 0060 X 1z / = 0.003
EHE = X X z /J 4 =
Im2%47
% EA H | & & W =
BRI T
AsGEER t=15cmLL 1.00 X = m 0.00
BHEERR A T
AsGEER t=10cmLL 1.00 X = m2 0.00
AT BHO.28m3
Wb A FEE £ 1.00 X 0.60 X( 0.76 — 0.13 )= m3 0.38
HHECT BHO.28m3
K NFRED AR 1.000 X 0.60 X 0.26 — 0.003 = m3 0.15
HEECT BHO.28m3
LG TN A 1.00 X 0.60 X 0.37 = m3 0.22
TSI T (RC-30)
t=10cm 1.00 X 0.00 = m2 0.00
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
FEFH T 4DT mElt+ mHEt
FEAA 1+ 0.38 —( 0.22 = 0.90 )= m3 0.14
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.00 X 0.13 = m3 0.00
EIN -
TR/ 0.00 X 235 = t 0.00

LEERKELEES XA =REHT



[&FfE - ] VLP@50 YIEHE
No. 3

PRE R - RNV HEE = LY =
4 b . .
I it | xve| e
Fh IR R OS|ES OPRROR S[EES| BPR R S[ES PR R OS|ES B (R S

0.300 1. 400 0.500 0.300 2.500( 1.500[ 8 4

0.300 1.000 0.800 0. 500 0.300| 2.900 1.100[ 9 5
N = HE (&R, DK, B, 5k L = 4,000 2 = 5.400| 2.600( 17 9
LBRKELRSES SRR =REHR




4. ARG (K& ¢ 100mmHPPE) ¥ &3



fKEMBRLI (RE ¢ 100mmHPPE) #S5EE

R £48Y :0.60m NO, 4
g 4 R
TiE £ K TZE S % & H %
H#
FUIFLYE A (e EY) B447°
YRI5 KiE $ 100X ¢ 25 b 2 2
¢ 20 ®25
kR YIR FCD ZRmH & 1 + 1 1 1A
FE (ERT]
FYIFLVE A
RKEETAATL $100% 25 331 2
THE
MIH B4#47° HIEIEB>4m
HRKEERT PEP ¢ 25 (517 2/L=1.8m + L=3.5m L=2.7m
(£T]
¢ 25
#HWAKETQ hmESE m 4.7 4.1 4.7




T I ¥ R K i %
No. 4 0. 1 TIQ NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
K E (K E B 100mmHPPE) 7% 4.7 =EE L SEE L SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 B BER=

AsFHZERR )¢ )

SEUMT t=15cmA T m
AsFH%E IR K )

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0. 36 1.69 1.69 ) ( 2)

AR R T ME L m3
BHO. 13m3 0.14 0. 66 0.66 )| ( 1)

BWHERT BAL m3
BHO. 13m3 0.16 0.75 0.75)|( 1)

HERT HESL m3
(RC-30) 0.60 2.82 2.82)|( 3)

TREERET t=10cm m2
(RM-30) )¢ )

LRERET t=12cm m2
BEZHAs13mm K )

B R 18 16 t=3cm m2
BitunT 0.18 0.85 0.85 )| ( 1)

(£8) 2tDT m3
BimsT ) ¢ )

(AS) 2tDT m3,
ZAE )¢ )

ASH% t

=R oK E #




T I #% E & & EBE
No, 1
a5 = @ PEPp25 L= 47 m
Bt B = A H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsEHLER t=15cmLL T 1.00 X = m 0.00
LN T
AsBHEER t=10cmll 1.00 X 0.00 = m2 0.00
A T BHO.13m3
BRI A BEE - 1.00 X 0.60 X( 0.63 — 0.03 )= m3 0.36
HHE T BHO. 13m3
LN A A 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
HE T BHO. 13m3
BN FEAE A 1.00 X 0.60 X 0.27 = m3 0.16
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.00 = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.00 = m2 0.00
LML 2tDT wmElE WAL
FBUAL | 0.36 —( 0.16 =~ 0.90 )= m3 0.18
FEH T 2tDT
TGS TR 1.00 X 0.00 X 0.00 = m3 0.00
EIN:
TR77 /b 0.00 X 235 = ¢ 0.00

=R M K E &




5. K (K% ¢ TommHPPE)  Hr&3



fKEMRLT (RES75mmHPPE) #E85HEE

fER S Y :0.60mm~0.80mm

NO, 5
g 4 R
TiE £ K TZE S % & H %
#H#
FYIFLYE A (e EY) AR47°
YRV 5 KiE @75% 20 = 3 3
¢ 20
kR Y IR FCD =R #! & 3 3
FE (ERT]
FYIFLVE A
RKEETAAT @75% ¢ 20 G331 3
THE
MIf AR47° EHRIEB > 4m
FRKEERT PEP ¢ 20 AT 3/L=2.0m + L=2.4m + L=2.5m L=2.3m
(£T]
¢ 20
#WAKEID-1 TEHEE m 3.9 3.9 3.9
¢ 20
HWAKEID-2 TEEE m 2.1 2.1 2.1




T I ¥ R K i %
No.5 NO. 1 TID-1 NO. 2 TID-1 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
MK E (K E P 75mmHPPE) 738 39 =EEL 21 =EEL SEE L SEE L SEE L SEE L SEE L SEE L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 B BER=

AsEliZEhR 2.00 7.80 2.00 4.20 12.00 )| ( 12)

SEUMT t=15cmA T m
AsEiZEhR 0.60 2.34 0.60 1.26 3.60 ) ( 4)

SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.35 1.37 0.47 0.99 2.36 )| ( 2)

AR R T ME L m3
BHO. 13m3 0.14 0.55 0.14 0.29 0.84)|( 1)

HHERT BER m3
BHO. 13m3 0.09 0.35 0.21 0.44 0.79)|( 1)

HERT HESL m3
(RC-30) 0.60 2.34 0. 60 1.26 3.60 ) ( 4)

TREERET t=10cm m2
(RM-30) 0.60 2.34 0.60 1.26 3.60 ) ( 4)

LRERET t=12cm m2
BAZTHLAs13mm 0.60 2.34 0.60 1.26 3.60 ) ( 4)

B R 18 16 t=3cm m2
BitunT 0.25 0.98 0.24 0.50 1.48 ) ( 1)

(£8) 2tDT m3
BitunT 0.03 0.12 0.03 0.06 0.18)|( 0.2)

(AS) 2tDT m3,
ZAE 0.07 0.27 0.07 0.15 0.42)|( 0.4)

ASH% t

RBRKELREEE RE=REHH




T I #% E & & EBE
No, 1
WA =  (@D-1 PEP$20 L= 3.9 m
B s B = il H= 0.60 m
EHEEE = 0030 X 0030 X =z / = 0.001
=P = X X z / =
Im2%47
% EA H | & & W =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.60 X( 0.63 — 0.05 )= m3 0.35
T BHO. 13m3
K NFRED AR 1.00 X 0.60 X 0.23 — 0.001 = m3 0.14
T BHO. 13m3
LG TN A 1.00 X 0.60 X 0.15 = m3 0.09
AT (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LG T 2tDT Al AL
FEAS 177 0.35 —( 0.09 = 0.90 )= m3 0.25
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TAT7 /iR 0.03 X 235 = t 0.07

LEERKELEES XA =REHT




H
H
32
il
o
o
i

No,2
Wrig#s = (D-2 PEP$20 L= 21 m
B s B = il H= 0.80 m
EHEEE = 0030 X 0030 X =z / = 0.001
EHE = X X z /J 4 =
Im2%47
% EA H | & & =
BRI T
AsGEER t=15cmLL 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO. 13m3
Wb A FEE £ 1.00 X 0.60 X( 0.83 — 0.05 )= m3 0.47
HEECT BHO. 13m3
K NFRED AR 1.000 X 0.60 X 0.23 — 0.001 = m3 0.14
HEECT BHO. 13m3
LG TN A 1.00 X 0.60 X 0.35 = m3 0.21
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
FEFH T 2tDT mElt+ mHEt
FEAA 1+ 047 —( 0.21 + 0.90 )= m3 0.24
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.05 = m3 0.03
EIN -
TR/ 0.03 X 235 = t 0.07

LEERKELEES XA =REHT



6. BEREME L HEXK



PREREIT HBHES

3E - 1% DIP ¢ 75mm:L=46.0m HPPE ¢ 75mm:L=3.5m PEP ¢ 50mm:L=22.0m PEP ¢ 25mm:L=122.0m

F S A 0. 70m~ 1.00m (PEP ¢ 2588 i &) NO, 6
g 4 R
TiE £ K TZE S % & H %
B
#H#
B E R
THKEZE0H 75 = 1 1 = 1
0500 Xx 0250 x 0.500 = 0.063
fhEav 42—k 0.50 X 0.25 X 0.50 | &Ff 1 0.006 X 0500 =+ 2 = 0.002 EER| tI®
&R
avyy—k 18-8-20 m3 0.06 (0063 — 0002 ) x1 = 0.060
K g 675 #A 1 1 = 1
HE
FE ¢ E |
BRERELT HBEOT5 m 46.0/ 360 + 100 = 46.000
BEERET HPPE®E ¢ 75 m 35 35 + = 3500
BEERET PEPE ¢ 50 m 22.0| 220 + = 22.000
BEERET PEPE ¢ 25 m 122.0] 300 + 920 = 122.000| fm#KE
BHHBEVIMT @75 a 15 460 + 30 m/A = 15
RYUIFLUEYHT b5 m} 1 35 + 30 m/A = 1
RUIFLUEYMT ¢ 50 m} 7 220 + 30 m/A = 7
RUIFLUEYMT ¢25 m} 40 1220 + 30 m/A = 40
s 4=
N & HHEE DTS t 0.765 (1440 + 223 )X 46.000 = 765 |ke
HPPE ¢ 100-75
VRS- REP ¢ 50-25 t 0.092
WK S5+ Bk ER
BREI 75 B 1 1 = 1
avyy—k 18-8-40 m3 0.06| 0.06 = 0.06
PhEga> o —bk BIE 0250 X 0500 x 2 = 0.250
B 0.50x 0.25%0.50 | m2 0.5 n 0250 x 0500 x 2 = 0250 tI6
0006 x 2 = 2 = 0006 Bk
(0250 + 0250 — 0.006) X 1 = 0490
BT BI(15%HL) Ktz &8
AHNZHILBFT ¢ 75 a 1 1 = 1
(£T]
o 158 E
+I®-1 TEEE m 495/ 360 + 100 + 35 = 495
¢ 508 %
+TI®-2 TEHEE m 150/ 150 + = 150
¢ 508 %
TI® MESECERHE) | m 7.0 7.0 + = 70
BREF 675
tI6 HEEE m 13| 1.3 x 1@ = 13
[S%HEIET]
HRRAUL
RERT E#H-Af-W=15cm | m 10.1 07+ 16 + 08 + 40 + 30 = 10.1
HRRAUL
RERT +I5-Bf&-W=45cm| m 44 16 + 28 = 44




T I ¥ R K i %
No. 6 NO. 1 ®-1 NO. 2 ®-2 NO. 3 @ NO. 4 ® NO. 5 NO. 6 NO. 7 NO. 8
HREMET 49.5 =EEL 5.0 =EE L 7.0 =EEL 1.0 =@ N SEE L 0.1 =EE L SEE L SEE L
SEE L SEE L SEE L =& N SEE L SEE L SEE L SER L
£ i i 1 & & BER=

AsEliZEhR 2.00 99.00 2.00 30.00 5.00 5.00 (134.00 ) ( 130 )

SEUMT t=15cmA T m
AsEiZEhR 0. 60 29.70 0.60 9.00 1.56 1.56 ( 40.26 )| ( 40)

SHERREFA T [t=10cmA T m2
BHO. 28m3 0.62 30. 69 0.42 6. 30 0.38 2.66 2.24 2.24 ( 41.89)|( 40)

AR R T ME L m3
BHO. 28m3 0.70 0.70 ( 0.70 )| ( 1)

HHERT BER m3
BHO. 28m3 0.50 24.75 0. 31 4.65 0.38 2.66 1.17 1.17 (33.23)( 30)

HERT HESL m3
(RC-30) 0.60 29.70 0. 60 9.00 1.56 1.56 ( 40.26 )| ( 40)

TREERET t=10cm m2
(RM-30) 0.60 29.70 0.60 9.00 1.56 1.56 ( 40.26 )| ( 40)

LRERET t=12cm m2
BAZTHLAs13mm 0.60 29.70 0.60 9.00 1.56 1.56 ( 40.26 )| ( 40)

B R 18 16 t=3cm m2
BitunT 0.06 2.97 0.08 1.20 | -0.04 -0.28 0.94 0.94 ( 4.83)|( 5)

(£8) 41DT m3
EitusT 0.03 1.49 0.03 0.45 0.08 0.08 ( 2.02)( 2)

(AS) 4tDT m3,
2AE 0.07 3.47 0.07 1.05 0.19 0.19 ( 4.71)|( 4.7)

ASH% t

RBRKELREEE RE=REHH




T I #% E & & EBE
No, 1
WrEEE = ©-1 DIPp75 L= 49.5 m
Brigid B = B #aE H= 1.00 m
EHEEE = 0090 X 009 X =z / = 0.006
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 1.09 — 0.05 )- 0.006 =| ms3 0.62
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 0.84 = m3 0.50
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.62 —( 0.50 = 0.90 )= m3 0.06
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07

LEERKELEES XA =REHT




T I #% E & & EBE
No,2
WrEEE = ©-2 PEP$50 L= 150 m
Brigid B = B #aE H= 0.70 m
EHEEE = 0060 X 0060 X 1z / = 0.003
=P = X X z / =
Im2%47
% B EA H | & & =
BRI T
AsBHEER t=15cmll 1.00 X 2 = m 2.00
LN T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
A T. BHO.28m3
BRI A BEE - 1.00 X 0.60 X( 0.76 — 0.05 )- 0.003 =| m3 0.42
HHEE T BHO.28m3
S NFEIED PR m3
HHEE T BHO.28m3
BN FEAE A 1.00 X 0.60 X 051 = m3 0.31
TSI T (RC-30)
t=10cm 1.00 X 0.60 = m2 0.60
/BT (RM-30)
t=12cm 1.00 X 0.60 = m2 0.60
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X 0.60 = m2 0.60
LML 4DT wmElE WAL
FBUAL | 0.42 —( 0.31 =+ 0.90 )= m3 0.08
FE T 4DT
TGS TR 1.00 X 0.60 X 0.05 = m3 0.03
EIN:
TR77 /b 0.03 X 235 = ¢ 0.07

LEERKELEES XA =REHT




H
H
32
il
o

"

i

No,3
WS = D  PEP$50 L= 7.0 m
Bt B = A H= 0.70 m
EHEEE = 0060 X 0060 X 1z / = 0.003
=P = X X z / =
Im2%47
% EA H | & & W =
BRI T
AsEHHEIR t=15cmIL T 1.00 X = m 0.00
BHEERR A T
AsBHEER t=10cmll 1.00 X = m2 0.00
AT BHO.28m3
- A - FEE A 1.00 X 0.60 X( 0.76 — 0.13 )- 0.003 =| m3 0.38
T BHO.28m3
S NFEIED PR m3
T BHO.28m3
LN A 1.00 X 0.60 X 0.63 = m3 0.38
AT (RC-30)
t=10cm 1.00 X = m2 0.00
RS T (RM-30)
t=12cm 1.00 X = m2 0.00
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.00 X = m2 0.00
LG T 4DT Al AL
FEAS 177 0.38 —( 0.38 = 0.90 )= m3 -0.04
FELH T 4tDT
FEAS TAT7 Wik 1.00 X X = m3 0.00
BN
TAT7 /iR 0.00 X 235 = t 0.00

LEERKELEES XA =REHT




T I #% E & & EBE
No,4
BrEidE s = @ DIPg75 L= 1.3 m (FHKIEGIH)
B s B = il H= 1.20 m
EHE S = 0090 X 009 X x / 4 X 13 = 0.008
o R = 0.500 X 0.250 X 0.500 = 0.063
15972450
% B EA H | & & i =
BRI T
ARG t=15cmPL T 130 X 2 4+ 120 X 2 = m 5.00
LN T
AsBHEER t=10cmll 1.30 X 1.20 = m2 1.56
A T. BHO.28m3
W A BEE A 1.30 X 1.20 X( 1.49 — 0.05 )— 0.008 =| m3 2.24
TR 1. BHO.28m3
LLNFEESD AR 1.30 X 1.20 X 0.49 — 0.008/2 — 0.063 =| m3 0.70
HHEE T BHO.28m3
LGRS FAE A 1.30 X 1.20 X 0.75 = m3 1.17
TSI T (RC-30)
t=10cm 1.30 X 1.20 = m2 1.56
/BT (RM-30)
t=12cm 1.30 X 1.20 = m2 1.56
BRIBTITE H (A #As 1 Smm, A 77)
t=3cm 1.30 X 1.20 = m2 1.56
LML 4DT wmElE WAL
FEASL 1 224 —( 1.17 + 0.90 )= m3 0.94
FE T 4DT
TGS TR 1.30 X 1.20 X 0.05 = m3 0.08
EIN:
TR77 /b 0.08 X 2.35 = ¢ 0.19

LEERKELEES XA =REHT
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